## ASITP

INSTITUTE OF THEORETICAL PHYSICS

ACADEMIA SINICA

S-ITP-94-20 July 1994

# Six-Vertex Type Solutions Equation With Color Parameters of Yang-Baxter

500 3433

Xiao-dong SUN and Shi-kun WANG

СЕКИ ГІВКАКІЕS, СЕИЕVA

P.O.Box 2735, Beijing 100080, The People's Republic of China

**Telefax**: (86)-1-2562587

**Telephone**: 2568348

Telex: 22040 BAOAS CN

Cable: 6158

ASITP-94-20 ASIAM-94-27 July 1994

### Six-Vertex Type Solutions of Yang-Baxter Equation with Color Parameters<sup>†</sup>

Xiao-dong SUN<sup>1</sup> Shi-kun WANG<sup>1,2</sup>

- <sup>1</sup> Institute of Applied Mathematics, Academia Sinica, Beijing 100080
- <sup>2</sup> Institute of Theoretical Physics, Academia Sinica, Beijing 100080

Abstract: In this paper, we obtain all solutions of Yang-Baxter equation with color parameters for six-vertex model in theory of exactly solved statistical models by five solution transformations, three non-degenerate basic solutions and several degenerate basic solutions. And we show that we can obtain all solutions of Yang-Baxter equation with spectral parameter for six-vertex model from solutions of Yang-Baxter equation with color parameters for six-vertex model.

Keywords: Yang-Baxter equation, solutions with color parameters of six-vertex type, solution transformations and basic solutions.

#### §1 Introduction

In the research of exact solution of integrable statistical models, C.N. Yang[1] and R.J. Baxter[2] independently proposed a very important non-linear algebraic equation, which is later called Yang-Baxter equation(YBE). (One can also find the history and review of Yang-Baxter equation in [3] and references therein)

Since 1960s, many excellent research works and results on finding solutions of YBE and corresponding theories of exactly solvable statistical models have appeared. Yang gave the first solution of YBE[1], Lieb[4] and Sutherland[5] studied and solved the six-vertex model, Baxter studied eight-vertex model and obtained an elliptic solution of YBE[2], Fan and Wu gave the famous Free-Fermion condition[6], and we can also find discussion of solutions and method to find solutions in [7-15] and references therein.

There are different types of expressions of YBE. Here we introduce three types, the first is the type of YBE with spectral parameter

$$\dot{R}_{12}(u)\dot{R}_{23}(u+v)\dot{R}_{12}(v) = \dot{R}_{23}(v)\dot{R}_{12}(u+v)\dot{R}_{23}(u), \tag{1}$$

where u, v and u + v are spectral parameters,

$$\check{R}_{12}(u) = \check{R}(u) \otimes E, \qquad \check{R}_{23}(u) = E \otimes \check{R}(u),$$

E is the unit matrix of order n, symbol  $\otimes$  denotes the tensor product of two matrices. Other types of YBE are

$$\dot{R}_{12}(\xi, \eta) \dot{R}_{23}(\xi, \lambda) \dot{R}_{12}(\eta, \lambda) = \dot{R}_{23}(\eta, \lambda) \dot{R}_{12}(\xi, \lambda) \dot{R}_{23}(\xi, \eta), \tag{2}$$

which is called YBE with color parameters, where  $\xi$ ,  $\eta$  and  $\lambda$  are color parameters; And

$$\dot{R}_{12}(u,\xi,\eta)\dot{R}_{23}(u+v,\xi,\lambda)\dot{R}_{12}(v,\eta,\lambda) = \dot{R}_{23}(v,\eta,\lambda)\dot{R}_{12}(u+v,\xi,\lambda)\dot{R}_{23}(u,\xi,\eta), \quad (3)$$

which is called the colored YBE with spectral and color parameters, where u, v and u + v are spectral parameters,  $\xi, \eta$  and  $\lambda$  are color parameters. Generally, if a solution of YBE is found, then the corresponding statistical model can be exactly solved.

Equation (1) and (2) are two special cases of equation (3). After simple analysis, one can see the if  $\check{R}(u)$  is a solution of (1), then  $\check{R}(\xi-\eta)$  must be solution of (2). In [15], we gave all the six-vertex type solutions of (1). In this paper, we will give all the six-vertex type solution of (2) and do some preparation for studying the solutions of (3). To solve the YBE with color parameters is to find a square matrix of order  $n^2$  with entries of two-variable functions,  $\check{R}(\xi,\eta)=(a_{ij})_{1\leq i,j\leq n^2}$ , which satisfies equation (2). Six-vertex type solution with color parameters is the solution of (2) with the form

$$\check{R}(\xi,\eta) = \left( egin{array}{cccc} a_1(\xi,\eta) & 0 & 0 & 0 \ 0 & a_2(\xi,\eta) & a_5(\xi,\eta) & 0 \ 0 & a_6(\xi,\eta) & a_3(\xi,\eta) & 0 \ 0 & 0 & a_4(\xi,\eta) \end{array} 
ight).$$

If  $a_i(\xi,\eta) \not\equiv 0$   $(i=1,2,\cdots,6)$ , then we call it the non-degenerate six-vertex type solution of YBE with color parameters, otherwise we call it the degenerate six-vertex type solution of YBE with color parameters. For six-vertex type solutions, the Free-Fermion condition can be expressed as

$$a_2(\xi,\eta)a_3(\xi,\eta) - a_1(\xi,\eta)a_4(\xi,\eta) - a_5(\xi,\eta)a_6(\xi,\eta) = 0.$$
 (4)

Now we are going to give all solutions with color parameters of six-vertex type. For simplicity, we denote  $R(\xi,\eta) = \langle a_1(\xi,\eta), a_2(\xi,\eta), a_3(\xi,\eta), a_4(\xi,\eta), a_5(\xi,\eta), a_6(\xi,\eta) \rangle$ . Therefore, equation (2) is equivalent to following 13 equations:

$$a_2(\xi,\eta)a_2(\eta,\lambda)a_3(\xi,\lambda) - a_3(\xi,\eta)a_3(\eta,\lambda)a_2(\xi,\lambda) = 0, \tag{5a}$$

$$\begin{array}{l} a_{1}(\xi,\eta)a_{1}(\eta,\lambda)a_{2}(\xi,\lambda)-a_{2}(\xi,\eta)a_{2}(\eta,\lambda)a_{1}(\xi,\lambda)-a_{6}(\xi,\eta)a_{5}(\eta,\lambda)a_{2}(\xi,\lambda)=0,\\ a_{1}(\xi,\eta)a_{2}(\eta,\lambda)a_{5}(\xi,\lambda)-a_{5}(\xi,\eta)a_{2}(\eta,\lambda)a_{1}(\xi,\lambda)-a_{3}(\xi,\eta)a_{5}(\eta,\lambda)a_{2}(\xi,\lambda)=0,\\ a_{2}(\xi,\eta)a_{1}(\eta,\lambda)a_{6}(\xi,\lambda)-a_{2}(\xi,\eta)a_{6}(\eta,\lambda)a_{1}(\xi,\lambda)-a_{6}(\xi,\eta)a_{3}(\eta,\lambda)a_{2}(\xi,\lambda)=0, \end{array} \right. \tag{5b}$$

$$\begin{array}{l} a_{4}(\xi,\eta)a_{4}(\eta,\lambda)a_{2}(\xi,\lambda)-a_{2}(\xi,\eta)a_{2}(\eta,\lambda)a_{4}(\xi,\lambda)-a_{5}(\xi,\eta)a_{6}(\eta,\lambda)a_{2}(\xi,\lambda)=0,\\ a_{4}(\xi,\eta)a_{2}(\eta,\lambda)a_{6}(\xi,\lambda)-a_{6}(\xi,\eta)a_{2}(\eta,\lambda)a_{4}(\xi,\lambda)-a_{3}(\xi,\eta)a_{6}(\eta,\lambda)a_{2}(\xi,\lambda)=0,\\ a_{2}(\xi,\eta)a_{4}(\eta,\lambda)a_{5}(\xi,\lambda)-a_{2}(\xi,\eta)a_{5}(\eta,\lambda)a_{4}(\xi,\lambda)-a_{5}(\xi,\eta)a_{3}(\eta,\lambda)a_{2}(\xi,\lambda)=0, \end{array} \right. (5c)$$

<sup>&</sup>lt;sup>†</sup> Supported Climbing Up Project, National Natural Scientific Foundation and Natural Scientific Foundation of Academia Sinica (KM85-32).

$$\begin{array}{l} a_1(\xi,\eta)a_1(\eta,\lambda)a_3(\xi,\lambda)-a_3(\xi,\eta)a_3(\eta,\lambda)a_1(\xi,\lambda)-a_6(\xi,\eta)a_5(\eta,\lambda)a_3(\xi,\lambda)=0,\\ a_1(\xi,\eta)a_3(\eta,\lambda)a_5(\xi,\lambda)-a_5(\xi,\eta)a_3(\eta,\lambda)a_1(\xi,\lambda)-a_2(\xi,\eta)a_5(\eta,\lambda)a_3(\xi,\lambda)=0,\\ a_3(\xi,\eta)a_1(\eta,\lambda)a_6(\xi,\lambda)-a_3(\xi,\eta)a_6(\eta,\lambda)a_1(\xi,\lambda)-a_6(\xi,\eta)a_2(\eta,\lambda)a_3(\xi,\lambda)=0,\\ a_4(\xi,\eta)a_4(\eta,\lambda)a_3(\xi,\lambda)-a_3(\xi,\eta)a_3(\eta,\lambda)a_4(\xi,\lambda)-a_5(\xi,\eta)a_6(\eta,\lambda)a_3(\xi,\lambda)=0,\\ a_4(\xi,\eta)a_3(\eta,\lambda)a_6(\xi,\lambda)-a_6(\xi,\eta)a_3(\eta,\lambda)a_4(\xi,\lambda)-a_2(\xi,\eta)a_6(\eta,\lambda)a_3(\xi,\lambda)=0,\\ a_3(\xi,\eta)a_4(\eta,\lambda)a_5(\xi,\lambda)-a_3(\xi,\eta)a_5(\eta,\lambda)a_4(\xi,\lambda)-a_5(\xi,\eta)a_2(\eta,\lambda)a_3(\xi,\lambda)=0. \end{array}$$

One can see that only the sub-indices 2,3 appear in the first equation. If we permute these two sub-indices, (5a) remains the same, but (5b) and (5c) interchange with (5d). Similarly, if we permute sub-indices 1 with 4 and 5 with 6 spontaneously, (5b) interchanges with (5c), but (5a) and (5d) keeps invariant. Thus we have:

(A) If  $\check{R}(\xi, \eta) = \langle a_1(\xi, \eta), a_2(\xi, \eta), a_3(\xi, \eta), a_4(\xi, \eta), a_5(\xi, \eta), a_6(\xi, \eta) \rangle$  is a solution of (2), then

$$\begin{array}{l} \check{R}(\xi,\eta) = < a_1(\xi,\eta), a_3(\xi,\eta), a_2(\xi,\eta), a_4(\xi,\eta), a_5(\xi,\eta), a_6(\xi,\eta)>, \\ \check{R}(\xi,\eta) = < a_4(\xi,\eta), a_2(\xi,\eta), a_3(\xi,\eta), a_1(\xi,\eta), a_6(\xi,\eta), a_5(\xi,\eta)>, \\ \check{R}(\xi,\eta) = < a_4(\xi,\eta), a_3(\xi,\eta), a_2(\xi,\eta), a_1(\xi,\eta), a_6(\xi,\eta), a_5(\xi,\eta)>, \end{array}$$

are also solutions.

Additionally, from equations (5a)—(5d), we find following solution transformations. If  $\check{R}(\xi,\eta)=< a_1(\xi,\eta), a_2(\xi,\eta), a_3(\xi,\eta), a_4(\xi,\eta), a_5(\xi,\eta), a_6(\xi,\eta)>$  is a solution of (2), then:

- (B)  $f(\xi, \eta) \dot{R}(\xi, \eta)$  is also a solution of (2), where f(u) is an arbitrary non-zero function:
- (C)  $\dot{R}(\xi,\eta) = \langle a_1(\xi,\eta), a_2(\xi,\eta), a_3(\xi,\eta), a_4(\xi,\eta), \mu^{-1}a_5(\xi,\eta), \mu a_6(\xi,\eta) \rangle$  is also a solution of (2), where  $\mu$  is a non-zero constant:
- (D)  $\tilde{R}(\xi,\eta) = \langle a_1(\xi,\eta), \frac{f(\xi)}{f(\eta)} a_2(\xi,\eta), \frac{f(\eta)}{f(\xi)} a_3(\xi,\eta), a_4(\xi,\eta), a_5(\xi,\eta), a_6(\xi,\eta) \rangle$  is also a solution of (2), where f(u) is an arbitrary non-zero function;
- (E)  $\dot{R}(\xi,\eta) = \langle a_1(\alpha,\beta), a_2(\alpha,\beta), a_3(\alpha,\beta), a_4(\alpha,\beta), a_5(\alpha,\beta), a_6(\alpha,\beta) \rangle$  is also a solution of (2), where  $\alpha = f(\xi)$ ,  $\beta = f(\eta)$ , f is an arbitrary non-zero function of one variable:

In the following context, we call (A), (B), (C), (D), (E) the solution transformations A, B, C, D, E of six-vertex type YBE with color parameters. And the Free-Fermion condition is invariant with respect to the solution transformations A, B, C, D, E.

Non-degenerate six-vertex type solutions with color parameters We first consider the non-degenerate solutions. Since  $a_2(\xi,\eta) \not\equiv 0$ , from (5a) we have

$$\frac{a_3}{a_2}(\xi,\eta) = \frac{a_3}{a_2}(\xi,\lambda) / \frac{a_3}{a_2}(\eta,\lambda). \tag{6}$$

Noticing that the left-hand-side of (6) is independent of  $\lambda$ , up to solution transformation D, we can assume

$$a_2(\xi,\eta) = a_3(\xi,\eta). \tag{7}$$

3

By considering with solution transformation B, we can assume  $a_2(\xi, \eta) = a_3(\xi, \eta) = 1$  in the following discussions of non-degenerate solutions without losing generality. Therefore equations (5a)—(5d) are equivalent to following six equations up to solution transformations B and D:

$$\begin{array}{l}
a_{1}(\xi,\eta)a_{1}(\eta,\lambda) - a_{1}(\xi,\lambda) - a_{6}(\xi,\eta)a_{5}(\eta,\lambda) = 0 \\
a_{1}(\xi,\eta)a_{5}(\xi,\lambda) - a_{5}(\xi,\eta)a_{1}(\xi,\lambda) - a_{5}(\eta,\lambda) = 0 \\
a_{1}(\eta,\lambda)a_{6}(\xi,\lambda) - a_{6}(\eta,\lambda)a_{1}(\xi,\lambda) - a_{6}(\xi,\eta) = 0
\end{array}$$
(8a)

$$\begin{array}{l}
a_4(\xi,\eta)a_4(\eta,\lambda) - a_4(\xi,\lambda) - a_5(\xi,\eta)a_6(\eta,\lambda) = 0 \\
a_4(\xi,\eta)a_6(\xi,\lambda) - a_6(\xi,\eta)a_4(\xi,\lambda) - a_6(\eta,\lambda) = 0 \\
a_4(\eta,\lambda)a_5(\xi,\lambda) - a_6(\eta,\lambda)a_4(\xi,\lambda) - a_5(\xi,\eta) = 0
\end{array}$$
(8b)

Next, from equations (8) we will use  $a_i(\xi, \lambda)$  and  $a_i(\eta, \lambda)$   $(i = 1, 2, \dots, 6)$  to represent  $a_i(\xi, \eta)$   $(i = 1, 2, \dots, 6)$ . From (8a) we have

$$a_{1}(\xi,\eta) = \frac{a_{1}(\xi,\lambda)}{a_{1}(\eta,\lambda)} (1 - a_{5}(\eta,\lambda)a_{6}(\eta,\lambda)) + a_{5}(\eta,\lambda)a_{6}(\xi,\lambda),$$

$$a_{5}(\xi,\eta) = \frac{a_{5}(\xi,\lambda)}{a_{1}(\eta,\lambda)} (1 - a_{5}(\eta,\lambda)a_{6}(\eta,\lambda)) - \frac{a_{5}(\eta,\lambda)}{a_{1}(\xi,\lambda)} (1 - a_{5}(\xi,\lambda)a_{6}(\xi,\lambda)),$$

$$a_{6}(\xi,\eta) = a_{1}(\eta,\lambda)a_{6}(\xi,\lambda) - a_{1}(\xi,\lambda)a_{6}(\eta,\lambda),$$

$$(9)$$

and from (8b) we have

$$a_{4}(\xi,\eta) = \frac{a_{4}(\xi,\lambda)}{a_{4}(\eta,\lambda)} (1 - a_{5}(\eta,\lambda)a_{6}(\eta,\lambda)) + a_{5}(\xi,\lambda)a_{6}(\eta,\lambda),$$

$$a_{5}(\xi,\eta) = a_{4}(\eta,\lambda)a_{5}(\xi,\lambda) - a_{4}(\xi,\lambda)a_{5}(\eta,\lambda),$$

$$a_{6}(\xi,\eta) = \frac{a_{6}(\xi,\lambda)}{a_{4}(\eta,\lambda)} (1 - a_{5}(\eta,\lambda)a_{6}(\eta,\lambda)) - \frac{a_{6}(\eta,\lambda)}{a_{4}(\xi,\lambda)} (1 - a_{5}(\xi,\lambda)a_{6}(\xi,\lambda)).$$
(10)

By comparing the expressions of  $a_5(\xi, \eta)$  and  $a_6(\xi, \eta)$  in (9) and (10), we have

$$a_{1}(\xi,\lambda)a_{5}(\xi,\lambda)(1-a_{1}(\eta,\lambda)a_{4}(\eta,\lambda)-a_{5}(\eta,\lambda)a_{6}(\eta,\lambda))$$

$$= a_{1}(\eta,\lambda)a_{5}(\eta,\lambda)(1-a_{1}(\xi,\lambda)a_{4}(\xi,\lambda)-a_{5}(\xi,\lambda)a_{6}(\xi,\lambda)),$$

$$a_{4}(\xi,\lambda)a_{5}(\xi,\lambda)(1-a_{1}(\eta,\lambda)a_{4}(\eta,\lambda)-a_{5}(\eta,\lambda)a_{6}(\eta,\lambda))$$

$$= a_{4}(\eta,\lambda)a_{5}(\eta,\lambda)(1-a_{1}(\xi,\lambda)a_{4}(\xi,\lambda)-a_{5}(\xi,\lambda)a_{6}(\xi,\lambda)),$$

i.e.

$$\frac{(1 - a_1(\xi, \lambda)a_4(\xi, \lambda) - a_5(\xi, \lambda)a_6(\xi, \lambda))}{a_1(\xi, \lambda)a_5(\xi, \lambda)} = C_1(\lambda),$$

$$\frac{(1 - a_1(\xi, \lambda)a_4(\xi, \lambda) - a_5(\xi, \lambda)a_6(\xi, \lambda))}{a_4(\xi, \lambda)a_6(\xi, \lambda)} = C_2(\lambda),$$
(11)

where  $C_1, C_2$  are functions of  $\lambda$ . Now we fix  $\lambda$  to a value and denote  $f_i(\xi) = a_i(\xi, \lambda)$  (i = 1, 4, 5, 6), then  $f_i(\xi)$  (i = 1, 4, 5, 6) satisfy

$$1 - f_1(\xi) f_4(\xi) - f_5(\xi) f_6(\xi) = C_1 f_1(\xi) f_5(\xi),$$

$$1 - f_1(\xi) f_4(\xi) \leftarrow f_5(\xi) f_6(\xi) = C_2 f_4(\xi) f_6(\xi),$$
(12)

where  $C_1$ ,  $C_2$  are constants. Therefore, from the combination of (9), (10) and (12), the expressions of  $a_i(\xi, \eta)$  (i = 1, 4, 5, 6) by  $f_i(\xi)$ ,  $f_i(\eta)$  (i = 1, 4, 5, 6) are as follows

$$a_{1}(\xi, \eta) = f_{1}(\xi)(f_{4}(\eta) + C_{1}f_{5}(\eta)) + f_{5}(\eta)f_{6}(\xi),$$

$$a_{4}(\xi, \eta) = f_{4}(\xi)(f_{1}(\eta) + C_{2}f_{6}(\eta)) + f_{5}(\xi)f_{6}(\eta),$$

$$a_{5}(\xi, \eta) = f_{4}(\eta)f_{5}(\xi) - f_{4}(\xi)f_{5}(\eta),$$

$$a_{6}(\xi, \eta) = f_{1}(\eta)f_{6}(\xi) - f_{1}(\xi)f_{6}(\eta).$$
(13)

Since we consider non-degenerate solutions, there are only two cases for  $C_1$  and  $C_2$ , one is  $C_1 = C_2 = 0$ , the other is  $C_1 \neq 0$  and  $C_2 \neq 0$ . And by solution transformation C, we can assume  $C_1 = C_2 = -2\cos(C)$ .

For the case  $C_1 = C_2 = 0$ ,

$$1 - f_1(\xi)f_4(\xi) - f_5(\xi)f_6(\xi) = 0.$$

Equivalently,  $f_i(\xi)$  (i = 1, 4, 5, 6) can be parameterized as

$$f_{1}(\xi) = (f(\xi) + 1)g(\xi),$$

$$f_{4}(\xi) = (-f(\xi) + 1)/g(\xi),$$

$$f_{5}(\xi) = f(\xi)h(\xi),$$

$$f_{6}(\xi) = f(\xi)/h(\xi),$$
(14)

where f, g, h are arbitrary functions of one variable. And corresponding expressions of  $a_i(\xi, \eta)$   $(i = 1, 2, \dots, 6)$  are

$$a_{1}(\xi,\eta) = (f(\xi)+1)(-f(\eta)+1)\frac{g(\xi)}{g(\eta)} + f(\xi)f(\eta)\frac{h(\eta)}{h(\xi)},$$

$$a_{2}(\xi,\eta) = a_{3}(\xi,\eta) = 1,$$

$$a_{4}(\xi,\eta) = (f(\eta)+1)(-f(\xi)+1)\frac{g(\eta)}{g(\xi)} + f(\xi)f(\eta)\frac{h(\xi)}{h(\eta)},$$

$$a_{5}(\xi,\eta) = f(\xi)(-f(\eta)+1)\frac{h(\xi)}{g(\eta)} - f(\eta)(-f(\xi)+1)\frac{h(\eta)}{g(\xi)},$$

$$a_{6}(\xi,\eta) = f(\xi)(f(\eta)+1)\frac{g(\eta)}{h(\xi)} - f(\eta)(f(\xi)+1)\frac{g(\xi)}{h(\eta)}.$$
(15)

This solution satisfies the Free-Fermion condition (4).

For the case  $C_1, C_2$  are non-zero, by solution transformation C, we can assume  $C_1 = C_2 = -2\cos(C) \neq 0$ ,

$$1 - f_1(\xi)f_4(\xi) - f_5(\xi)f_6(\xi) = -2\cos(C)f_1(\xi)f_5(\xi) = -2\cos(C)f_4(\xi)f_6(\xi). \tag{16}$$

Since  $-2\cos(C) \neq 0$ ,

$$f_1(\xi)f_5(\xi) = f_4(\xi)f_6(\xi).$$
 (17)

By (17),  $f_i(\xi)$  (i = 1, 4, 5, 6) can expressed as follows

$$f_1(\xi) = h(\xi)/g(\xi), f_4(\xi) = h(\xi)g(\xi), f_5(\xi) = f(\xi)g(\xi), f_6(\xi) = f(\xi)/g(\xi). (18)$$

Then we can rewrite (16) as

$$h^{2}(\xi) - 2\cos(C)h(\xi)f(\xi) + f^{2}(\xi) - 1 = 0.$$
 (19)

Considering (19) as a second order equation of  $h(\xi)$ , we have the solutions as

$$h(\xi) = \cos(C)f(\xi) \pm \sqrt{1 - \sin^2(C)f^2(\xi)}.$$
 (20)

1) If  $cos(C) = \pm 1$ , then sin(C) = 0,

$$h(\xi) = \pm f(\xi) \pm 1.$$

After considering  $f_i(\xi)$  (i = 1, 4, 5, 6) and  $h(\xi)$ ,  $f(\xi)$  with the influence of solution transformations B.C.E and other equivalent conditions, we find that we need only assume

$$cos(C) = 1,$$
  $h(\xi) = f(\xi) + 1.$ 

Thus

$$f_1(\xi) = (f(\xi) + 1)/g(\xi), f_5(\xi) = f(\xi)g(\xi), f_4(\xi) = (f(\xi) + 1)g(\xi), f_6(\xi) = f(\xi)/g(\xi),$$
 (21)

The solution of (2) is

$$a_{1}(\xi,\eta) = (f(\xi) - f(\eta) + 1)\frac{g(\eta)}{g(\xi)},$$

$$a_{2}(\xi,\eta) = a_{3}(\xi,\eta) = 1,$$

$$a_{4}(\xi,\eta) = (f(\xi) - f(\eta) + 1)\frac{g(\xi)}{g(\eta)},$$

$$a_{5}(\xi,\eta) = (f(\xi) - f(\eta))g(\xi)g(\eta),$$

$$a_{6}(\xi,\eta) = (f(\xi) - f(\eta))\frac{1}{g(\xi)g(\eta)}.$$
(22)

2) If  $\cos(C) \neq \pm 1$ , then  $\sin(C) \neq 0$ . Up to solution transformation E, We assume

$$f(\xi) = \sin(\xi)/\sin(C).$$

Thus

$$h(\xi) = \cos(C)\sin(\xi)/\sin(C) \pm \cos(\xi) = \sin(\xi \pm C)/\sin(C).$$

After considering the influence of solution transformations B,C,E and other equivalent conditions, we find that we need only assume

$$f(\xi) = \sin(\xi)/\sin(C) \qquad h(\xi) = \sin(\xi + C)/\sin(C).$$

Therefore

$$f_{1}(\xi) = \frac{\sin(\xi + C)}{\sin(C)g(\xi)}, \qquad f_{5}(\xi) = \frac{\sin(\xi)g(\xi)}{\sin(C)},$$

$$f_{4}(\xi) = \frac{\sin(\xi + C)g(\xi)}{\sin(C)}, \qquad f_{6}(\xi) = \frac{\sin(\xi)g(\xi)}{\sin(C)g(\xi)},$$
(23)

The solution of (2) for this case is

$$a_{1}(\xi,\eta) = \frac{\sin(\xi - \eta + C)}{\sin(C)} \frac{g(\eta)}{g(\xi)},$$

$$a_{2}(\xi,\eta) = a_{3}(\xi,\eta) = 1,$$

$$a_{4}(\xi,\eta) = \frac{\sin(\xi - \eta + C)}{\sin(C)} \frac{g(\xi)}{g(\eta)},$$

$$a_{5}(\xi,\eta) = \frac{\sin(\xi - \eta)}{\sin(C)} g(\xi)g(\eta),$$

$$a_{6}(\xi,\eta) = \frac{\sin(\xi - \eta)}{\sin(C)} \frac{1}{g(\xi)g(\eta)},$$
(24)

where C is arbitrary constant.

From above discussions, we finally have the following theorem.

Theorem Up to solution transformations A,B,C,D,E, any non-degenerate six-vertex type solution of YBE (2) with color parameters is equivalent to one of the three sets of basic solutions: (15), (22) and (24).

Remark 1: If we take  $f(\xi) = \xi$ ,  $g(\xi) = h(\xi) = 1$  in (15), solution (15) becomes

$$a_{1}(\xi, \eta) = \xi - \eta + 1,$$

$$a_{2}(\xi, \eta) = a_{3}(\xi, \eta) = 1,$$

$$a_{4}(\xi, \eta) = \eta - \xi + 1,$$

$$a_{5}(\xi, \eta) = \xi - \eta.$$

$$a_{6}(\xi, \eta) = \xi - \eta.$$
(25)

If we take  $f(\xi) = \sin(\xi)/\sin(C)$ ,  $g(\xi) = \sin(\xi + C)/(\sin(xi) + \sin(C))$  and  $h(\xi) = 1$  in (15), solution (15) becomes

$$a_{1}(\xi,\eta) = \frac{\sin(\xi - \eta + C)}{\sin(C)},$$

$$a_{2}(\xi,\eta) = a_{3}(\xi,\eta) = 1,$$

$$a_{4}(\xi,\eta) = \frac{\sin(\eta - \xi + C)}{\sin(C)},$$

$$a_{5}(\xi,\eta) = \frac{\sin(\xi - \eta)}{\sin(C)},$$

$$a_{6}(\xi,\eta) = \frac{\sin(\xi - \eta)}{\sin(C)}.$$
(26)

If we take  $f(\xi) = \xi$ ,  $g(\xi) = 1$  in (22), solution (22) becomes

$$a_{1}(\xi, \eta) = \xi - \eta + 1, a_{2}(\xi, \eta) = a_{3}(\xi, \eta) = 1, a_{4}(\xi, \eta) = \xi - \eta + 1, a_{5}(\xi, \eta) = \xi - \eta, a_{6}(\xi, \eta) = \xi - \eta.$$
(27)

If we take  $q(\xi) = 1$  in (24), solution (24) becomes

$$a_1(\xi,\eta) = \frac{\sin(\xi - \eta + C)}{\sin(C)},$$

$$a_2(\xi,\eta) = a_3(\xi,\eta) = 1,$$

$$a_4(\xi,\eta) = \frac{\sin(\xi - \eta + C)}{\sin(C)},$$

$$a_5(\xi,\eta) = \frac{\sin(\xi - \eta)}{\sin(C)},$$

$$a_6(\xi,\eta) = \frac{\sin(\xi - \eta)}{\sin(C)}.$$
(28)

In (25), (26), (27) and (28),  $a_i(\xi,\eta)$  ( $i=1,2,\cdots,6$ ) are in forms of functions of two variables, but they can also be regarded as one-variable functions of  $\xi-\eta$ . Therefore from three basic solutions (15), (22) and (24) of (2), we obtain the four basic solutions of (1).(please see [15])

#### §3 Degenerate six-vertex type solutions with color parameters

Now that we have discussed the non-degenerate solution, we come to the degenerate solutions of equations (5a)—(5d).

- 1. If  $a_2(\xi,\eta) = a_3(\xi,\eta) \equiv 0$ , then  $a_1(\xi,\eta), a_4(\xi,\eta), a_5(\xi,\eta), a_6(\xi,\eta)$  can be arbitrary functions.
- 2. If  $a_2(\xi,\eta)\equiv 0$  or  $a_3(\xi,\eta)\equiv 0$ , then up to solution transformation A, we assume  $a_2(\xi,\eta)\not\equiv 0$ ,  $a_3(\xi,\eta)\equiv 0$  without losing generality, equation (2) is equivalent to following six equations:

$$a_{1}(\xi,\eta)a_{1}(\eta,\lambda) - a_{1}(\xi,\lambda) - a_{6}(\xi,\eta)a_{5}(\eta,\lambda) = 0, a_{1}(\xi,\eta)a_{5}(\xi,\lambda) - a_{5}(\xi,\eta)a_{1}(\xi,\lambda) = 0, a_{1}(\eta,\lambda)a_{6}(\xi,\lambda) - a_{6}(\eta,\lambda)a_{1}(\xi,\lambda) = 0, a_{4}(\xi,\eta)a_{4}(\eta,\lambda) - a_{4}(\xi,\lambda) - a_{5}(\xi,\eta)a_{6}(\eta,\lambda) = 0, a_{4}(\xi,\eta)a_{6}(\xi,\lambda) - a_{5}(\xi,\eta)a_{4}(\xi,\lambda) = 0, a_{4}(\eta,\lambda)a_{5}(\xi,\lambda) - a_{5}(\eta,\lambda)a_{4}(\xi,\lambda) = 0.$$

$$(29)$$

a. If we have  $a_5(\xi,\eta)=a_6(\xi,\eta)\equiv 0$  additionally, then up to solution transformations, the basic solutions for this case are

$$\begin{cases}
a_1(\xi,\eta) = \varepsilon_1 f_1(\xi)/f_1(\eta), \\
a_2(\xi,\eta) = 1, \\
a_4(\xi,\eta) = \varepsilon_4 f_4(\xi)/f_4(\eta), \\
a_3(\xi,\eta) = a_5(\xi,\eta) = a_6(\xi,\eta) = 0,
\end{cases} (30)$$

where  $f_1$ ,  $f_4$  are arbitrary functions,  $\varepsilon_1$ ,  $\varepsilon_4$  are 1 or 0.

b. If we have  $a_5(\xi,\eta)\equiv 0$  or  $a_6(\xi,\eta)\equiv 0$  additionally, then up to solution transformation A, we assume  $a_5(\xi,\eta)\not\equiv 0$ ,  $a_6(\xi,\eta)\equiv 0$  without losing generality, therefore for this case there are four sets of basic solutions up to the solution transformations:

i)  $a_1(\xi,\eta)=a_3(\xi,\eta)=a_4(\xi,\eta)=a_6(\xi,\eta)\equiv 0, a_2(\xi,\eta), a_5(\xi,\eta)$  are arbitrary functions

ii)  $a_1(\xi,\eta) = a_3(\xi,\eta) = a_6(\xi,\eta) \equiv 0$ ,  $a_4(\xi,\eta) = f_4(\xi)/f_4(\eta)$ ,  $a_2(\xi,\eta) = 1$ ,  $a_5(\xi,\eta) = f_4(\xi)/f_6(\eta)$ .

iii)  $a_3(\xi,\eta) = a_4(\xi,\eta) = a_6(\xi,\eta) \equiv 0$ ,  $a_1(\xi,\eta) = f_1(\xi)/f_1(\eta)$ ,  $a_2(\xi,\eta) = 1$ ,  $a_5(\xi,\eta) = f_5(\xi)/f_1(\eta)$ ,

iv)  $a_3(\xi,\eta) = a_6(\xi,\eta) \equiv 0$ ,  $a_1(\xi,\eta) = f_1(\xi)/f_1(\eta)$ ,  $a_4(\xi,\eta) = f_4(\xi)/f_4(\eta)$ ,  $a_2(\xi,\eta) = 1$ ,  $a_5(\xi,\eta) = f_4(\xi)/f_1(\eta)$ ,

where  $f_1$ ,  $f_4$ ,  $f_5$  are arbitrary functions.

c. If we have  $a_5(\xi,\eta)\not\equiv 0$  and  $a_6(\xi,\eta)\not\equiv 0$  additionally, up to solution transformations, the basic solutions for this case are

$$\begin{cases} a_{1}(\xi, \eta) = \frac{f_{6}(\xi)}{f_{6}(\eta)}(g(\xi, \eta) + 1/2), \\ a_{2}(\xi, \eta) = 1, \\ a_{3}(\xi, \eta) = 0, \\ a_{4}(\xi, \eta) = \frac{f_{5}(\xi)}{f_{5}(\eta)}(-g(\xi, \eta) + 1/2), \\ a_{5}(\xi, \eta) = \frac{f_{5}(\xi)}{Cf_{6}(\eta)}(g(\xi, \eta) + 1/2), \\ a_{6}(\xi, \eta) = -\frac{Cf_{6}(\xi)}{f_{5}(\eta)}(-g(\xi, \eta) + 1/2), \end{cases}$$

$$(31)$$

and

$$\begin{cases} a_{1}(\xi,\eta) = \frac{C_{1}C_{4}}{1 + C_{1}C_{4}} \frac{f_{6}(\xi)}{f_{6}(\eta)}, \\ a_{2}(\xi,\eta) = 1, \\ a_{3}(\xi,\eta) = 0, \\ a_{4}(\xi,\eta) = \frac{C_{1}C_{4}}{1 + C_{1}C_{4}} \frac{f_{5}(\xi)}{f_{5}(\eta)}, \\ a_{5}(\xi,\eta) = \frac{C_{4}}{1 + C_{1}C_{4}} \frac{f_{5}(\xi)}{f_{6}(\eta)}, \\ a_{6}(\xi,\eta) = \frac{C_{1}}{1 + C_{1}C_{4}} \frac{f_{6}(\xi)}{f_{5}(\eta)}, \end{cases}$$

$$(32)$$

where  $f_1$ ,  $f_4$ ,  $f_5$  are arbitrary one-variable functions, g is arbitrary two-variable function,  $C_1$ ,  $C_4$  are non-zero constants. And solution (31) satisfies Free-Fermion condition (4).

3. If  $a_2(\xi,\eta) \not\equiv 0$  and  $a_3(\xi,\eta) \not\equiv 0$ , we also have following cases,

a. If we have  $a_5(\xi,\eta)=a_6(\xi,\eta)\equiv 0$  additionally, then up to solution transformations, the basic solution for this case is

$$\begin{cases} a_1(\xi, \eta) = f_1(\xi)/f_1(\eta), \\ a_2(\xi, \eta) = a_3(\xi, \eta) = 1, \\ a_4(\xi, \eta) = f_4(\xi)/f_4(\eta), \\ a_5(\xi, \eta) = a_6(\xi, \eta) = 0, \end{cases}$$
(33)

where  $f_1$ ,  $f_4$  are arbitrary functions.

b. If we have  $a_5(\xi,\eta)\equiv 0$  or  $a_6(\xi,\eta)\equiv 0$  additionally, then up to solution transformation A, we assume  $a_5(\xi,\eta)\not\equiv 0$ ,  $a_6(\xi,\eta)\equiv 0$  without losing generality, equation (2) is equivalent to following six equations:

$$\begin{array}{l} a_1(\xi,\eta)a_1(\eta,\lambda) - a_1(\xi,\lambda) = 0, \\ a_1(\xi,\eta)a_5(\xi,\lambda) - a_5(\xi,\eta)a_1(\xi,\lambda) - a_5(\eta,\lambda) = 0, \\ a_4(\xi,\eta)a_4(\eta,\lambda) - a_4(\xi,\lambda) = 0, \\ a_4(\eta,\lambda)a_5(\xi,\lambda) - a_5(\eta,\lambda)a_4(\xi,\lambda) - a_5(\xi,\eta) = 0. \end{array}$$

Then up to solution transformations, the basic solutions for this case are

$$\begin{cases} a_{1}(\xi,\eta) = \frac{f_{1}(\xi)}{f_{1}(\eta)}, \\ a_{2}(\xi,\eta) = a_{3}(\xi,\eta) = 1, \\ a_{4}(\xi,\eta) = \frac{f_{1}(\eta)}{f_{1}(\xi)}, \\ a_{5}(\xi,\eta) = \frac{f_{5}(\xi)}{f_{1}(\eta)} - \frac{f_{5}(\eta)}{f_{1}(\xi)}, \\ a_{6}(\xi,\eta) = 0, \end{cases}$$
(34)

ane

$$\begin{cases} a_{1}(\xi,\eta) = \frac{f_{1}(\xi)}{f_{1}(\eta)}, \\ a_{2}(\xi,\eta) = a_{3}(\xi,\eta) = 1, \\ a_{4}(\xi,\eta) = \frac{f_{4}(\xi)}{f_{4}(\eta)}, \\ a_{5}(\xi,\eta) = \frac{f_{4}(\eta)(1 - f_{1}(\xi)f_{4}(\xi))}{Cf_{1}(\xi)} - \frac{f_{4}(\xi)(1 - f_{1}(\eta)f_{4}(\eta))}{Cf_{1}(\eta)}, \\ a_{6}(\xi,\eta) = 0, \end{cases}$$
(35)

where  $f_1$ ,  $f_4$ ,  $f_5$  are arbitrary functions, C is non-zero constant. And solution (34) satisfied Free-Fermion condition (4).

c. If we have  $a_5(\xi,\eta)\not\equiv 0$  and  $a_6(\xi,\eta)\not\equiv 0$  additionally, there is no degenerate solution for this case. Otherwise, let  $a_4(\xi,\eta)\equiv 0$  for example, then from equations (5c) one can see at least one of  $a_2(\xi,\eta), a_3(\xi,\eta), a_5(\xi,\eta), a_6(\xi,\eta)$  must be zero, that gives the contradiction, i.e. there are only non-degenerate solutions for this case.

In fact, from above discussion, we give all the six-vertex type degenerate solution with color parameters up to solution transformations A.B.C.D.E.

Remark 2: In both references [12,13], a solution of equations (2) is mentioned and can be expressed in the notations of this paper as:

$$\tilde{R} = \begin{pmatrix}
p(\xi) & 0 & 0 & 0 \\
0 & \frac{p^2(\xi) - 1}{p(\eta)} & 1 & 0 \\
0 & \frac{p(\xi)}{p(\eta)} & 0 & 0 \\
0 & 0 & 0 & -\frac{1}{p(\eta)}
\end{pmatrix},$$
(36)

If we let

$$g(\xi,\eta) = \frac{p^2(\eta)+1}{2(p^2(\eta)-1)}, \quad f_{\delta}(\xi) = \frac{1}{p^2(\xi)-1}, \quad f_{\delta}(\xi) = \frac{p(\xi)}{C(p^2(\xi)-1)},$$

in the degenerate basic solution (31) discussed in this paper, the above solution (36) is obtained.

#### References

- [1] Yang, C.N., Some exact results for the many-body problem in one dimension with repulsive delta-function interaction, Phys. Rev. Lett., 19(1967)1312.
- [2] Baxter, R.J., Exactly solved models in statistical mechanics, Academic Press, London, 1982.
- [3] Ma, Zhong-qi, Yang-Baxter equation and quantum enveloping algebra, Advanced Series on Theoretical Physical Science, Vol.1, World Scientific Press, 1993.
- [4] Lieb, E.H., Phys. Rev., 162 (1967)162-172.
- [5] Sutherland, B., Phys. Rev. Lett. 18 (1967)103-104.
- [6] C. Fan and F.Y. Wu, Phys. Rev. B2(1970)723.
- [7] B. U. Felderhof, Physica 66(1973)279.
- [8] K. Sogo, M. Uchinami, Y. Akutsu and M. Wadati, Prog. Theor. Phys. 68(1982)508.

- [9] Couture, M., M.L. Ge, H.C. Lee and N.C. Schmeing, New braid group representations of the D<sub>2</sub> and D<sub>3</sub> types and their Baxterization, J. Phys., A23(1990), 4751-4764.
- [10] Hlavaty, L., Unusual solutions to the Yang-Baxter equation, J. Phys., A20(1987), 1661-1667
- [11] Belavin, A.A. and V.G. Drinfel'd, Solutions of the classical Yang-Baxter equation for simple Lie algebras, Funkt. Anal. Pril., 16(1982), No.3, 1-29; Funct. Anal. Appl., 16(1982), 159-180.
- [12] Murakami, J., A state model for the multi-variable Alexander polynomial 1990, preprint, Osaka University.
- [13] Murakami, J., The free-Fermion model in presence of field related to the quantum group  $U_q(\widehat{\mathfrak{sl}_2})$  of affine type and the multi-variable Alexander polynomial of links, preprint RIMS-822, October 1991.
- [14] M.L. Ge and K. Xue, Trigonometric Yang-Baxterization of coloured Ř-matrix, J. of Phys. A: Math. & Gen., Vol.26, No.2, (1993)281.
- [15] Shi-kun Wang, Ke Wu, Xiao-dong Sun and Shao-ming Fei, Solutions of spectral dependent Yang-Baxter equation for six-vertex model, to appear in Acta Physica Sinica.(in Chinese)